College of Arts and Sciences

e
Exam I- Spring 2008 /i/

gf‘.“i/ -

/C*

Mathematics for Business | (MTH 101)
Section: 1-7 L /‘y - ,,\<L§’7 )
Instructor N ame
|Dr. T Abualrub

(Dr. A. Badaw; — ; 150 . .
Dr. G. Gunatillake

5

\

\ ~
\\ i
Al

Date: Wednesday March 26, 2008

Student Name:  (a\ca Masie MoWemed
Student Number:

10 9 00026237 .
J

This examination has 5 pages plus the formula sheet and this cover
page. Before you start the €Xxamination please verify the number of
pages.

No Questions are allowed during the €Xamination

Student signature:




)

L. (8 points) What amount will an account have after 6 years if $9,000 is
invested at an annual rate of 5%
(a) (4 points) Simple interest?
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3 (4 points) A doughnut sho,

P has a fixed cost of $210 per day and a variable
cost of $0.20 per doughnut,

(a) (2 points)

Find the tota] daily cost of producing g doughnuts.
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cost of $4007
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4. (14 points

) The research deps
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where z is in thousands of units,
functions have 1
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(n) (2 points) Write the revenue function,
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(b) (2 points) Find the maximum revenye,
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(¢) (3 points) Detremine the break-even point(s).
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8. [T points) The table below shows the clectricity rates charged by XYz
utilitics in the summer month

$3.00 for the first 20 kWh or less
$0.0570 per kWh for the next 180 kWh
$0.0346 per kWh for

(n) (5 points) Write a
(in dollars) for g ¢

all over 200 kWh
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(b) (2 points) How muc

h is the monthly charge for 5 customer who uses
640 kWh?
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6. (10 points) Suppose you borrow $20, 000 at 8% intcrest rate compounded
' annually, which is to be amortized over 5 years in cqual yearly payments.
1
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